Status of Graduates within One Year of Graduation by Program

The table below shows employment status of NHCC graduates after one year of graduation. All information is gathered by using the MN State Graduate Follow-Up Survey distributed to all graduated students inside of one fiscal year. Survey responses were provided either by graduates or individuals who know the graduates and their employment relatedness to program of study.

The results represent students from the 2019-20 graduating class with suppression applied:

- For counts: If counts are <10 then "<10" is displayed instead of the counts.
- For %'s: If counts are <10 then "*" is displayed instead of percent.

Related Work Full- time	Related Work Part- time	Unrelated Work Seeking	Unrelated Work Not Seeking	Continue Education	Available for Work but Unemployed	Unavailable for Work	Status Unknown	Total Graduates	Total Related Work	Total Available for Related	Related Employment Rate
Line	time	Related	Related		onemployed				WOIK	Employment	Nate
.NET Progra	amming - C	ertificate (:	110202)								
<10	0	0	0	<10	0	0	0	<10	<10	<10	100.0%
*	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	*	*	
Academic	English Lan	guage Prof	iciency - Ce	rtificate (2	30101)						
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	0.0%	0.0%	
Accounting	g - Associat	e of Scienc	e (520301)								
<10	<10	0	0	<10	<10	0	<10	11	<10	<10	87.5%
*	*	0.0%	0.0%	*	*	0.0%	*	100.0%	*	*	
Accounting	g Essentials	- Certifica	te (520302)							
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	0.0%	0.0%	,
Accounting	g Skills - Ce	rtificate (5	20302)								
<10	0	0	0	<10	0	0	0	<10	<10	<10	100.0%
*	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	*	*	200.070
Accounting			ate of Applie	ed Science I		0.070	0.070				
<10	<10	0	<10	<10	0	0	<10	<10	<10	<10	100.0%
*	*	0.0%	*	*	0.0%	0.0%	*	*	*	*	100.076
Accounting			ssociate of			0.0%					
0	0	o O	0	<10	0	0	0	<10	0	0	N/A
	0.0%	0.0%	0.0%	*10				*10		_	N/A
0.0%					0.0%	0.0%	0.0%	T	0.0%	0.0%	
,	_, _				ystems - Cert	•					
47	14	<10	0	206	11	0	19	298	61	73	83.6%
15.8%	4.7%	*	0.0%	69.1%	3.7%	0.0%	6.4%	100.0%	20.5%	24.5%	
		_	cate (16160								
0	0	0	0	<10	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	*	*	0.0%	0.0%	
			ficate (110								
<10	<10	0	0	30	0	0	<10	36	<10	<10	100.0%
*	*	0.0%	0.0%	83.3%	0.0%	0.0%	*	100.0%	*	*	
Biology - A	ssociate of	Science (2	60101)								
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	0.0%	0.0%	
Biology Tra	ansfer Path	way - Asso	ciate of Sci	ence (2601	01)						
0	0	0	0	<10	<10	0	<10	<10	0	<10	0.0%
0.0%	0.0%	0.0%	0.0%	*	*	0.0%	*	*	0.0%	*	
	spection -										
10	<10	0	0	0	0	0	<10	16	11	11	100.0%
62.5%	*	0.0%	0.0%	0.0%	0.0%	0.0%	*	100.0%	68.8%	68.8%	200.070
	Administrat		iate of Scie			0.076		100.076	00.070	00.076	
10	<10	<10	0	15	0	0	<10	32	14	15	93.3%
31.3%	*	*	0.0%	46.9%	0.0%	0.0%	*	100.0%	43.8%	46.9%	33.376
	`ommunica	tions and T			- Certificate (100.0%	43.6%	40.5%	
0	ommunica O	tions and i	ecnnology 0	<10	- Certificate (: <10	0	0	<10	0	<10	0.0%
	_		_	×10	<10	_	_	<10		<10	0.0%
0.0%	0.0%	0.0%	0.0%		-1	0.0%	0.0%	*	0.0%	-	
			_		ate of Applied						485
<10	0	0	0	<10	0	0	0	<10	<10	<10	100.0%
*	0.0%	0.0%	0.0%	*	0.0%	0.0%	0.0%	*	*	*	
					ate of Science						
<10	0	0	0	<10	<10	0	0	<10	<10	<10	66.7%
*	0.0%	0.0%	0.0%	*	*	0.0%	0.0%	*	*	*	

Continue to on the next page.

Related Work Full- time	Related Work Part- time	Unrelated Work Seeking Related	Unrelated Work Not Seeking Related	Continue Education	Available for Work but Unemployed	Unavailable for Work	Status Unknown	Total Graduates	Total Related Work	Total Available for Related Employment	Related Employment Rate
Business P	rinciples - (Certificate (520101)				•				
11	<10	0	0	98	0	0	11	126	17	17	100.0%
8.7%	•	0.0%	0.0%	77.8%	0.0%	0.096	8.7%	100.0%	13.5%	13.5%	
Business T	ransfer Pat	hway - Asso	ciate of Sci	ence (5201	01)						
<10	<10	0	0	11	0	0	0	21	10	10	100.0%
•	•	0.0%	0.0%	52.4%	0.0%	0.0%	0.0%	100.0%	47.6%	47.6%	
Chemistry	- Associate	of Science	(400501)								
0	0	0	0	<10	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	•	0.0%	0.0%	•	•	0.0%	0.0%	
Communic	ation and (Computer S	kills - Certifi	icate (5204	07)						
19	<10	<10	<10	150	<10	<10	25	210	26	32	81.3%
9.0%	•	•	•	71.4%	•	•	11.9%	100.0%	12.4%	15.2%	
Communic	ation Studi	es Transfer	Pathway - /	Associate o	f Arts (240101	.)					
<10	0	<10	0	<10	Ò	0	0	<10	<10	<10	66.7%
•	0.0%	•	0.0%	•	0.0%	0.0%	0.0%	•	•	•	
Computer	Science - As	sociate of	Science (11	0701)							
<10	<10	<10	0	15	0	0	<10	25	<10	<10	80.0%
•	•	•	0.0%	60.0%	0.0%	0.0%	•	100.0%	•	•	
Computer	Science Tra	nsfer Path			nce (110701)						
0	0	0	0	<10	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	•	0.0%	0.0%	•	•	0.0%	0.0%	,,,,
			ificate (460	1412)	3.070	3.070			5.070	5.576	
<10	011 Wallage	0	0	<10	0	0	0	<10	<10	<10	100.0%
•	0.0%	0.0%	0.0%	•	0.0%	0.0%	0.0%	•	•	•	100.070
Constructi				Associate	of Science (52		0.070				
<10	0 On Manage	0	0	<10	0	0	<10	<10	<10	<10	100.0%
10	0.0%	0.0%	0.0%	10	0.0%	0.0%	10	10	×10	-10	100.0%
Connection M				2021	0.070	0.076					
	_		ne Arts (231		_	0		<10	_	0	NI/A
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%		0.0%	0.0%	0.0%	_	0.0%	0.0%	
			ience (4301		-10		40	0.7	-10	-10	50 FW
<10	<10	<10	0	<10	<10	0	10	27	<10	<10	62.5%
			0.0%	1		0.0%	37.0%	100.0%			
			ate (520208		_		-				
<10	<10	0	0	<10	0	0	0	10	<10	<10	100.0%
		0.0%	0.0%		0.0%	0.0%	0.0%	100.0%			
			sociate of A			_	_			_	
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	_ •	0.0%	0.0%	0.0%	_ •	0.0%	0.0%	
	- Associate										
<10	<10	0	<10	11	0	0	<10	16	<10	<10	100.0%
•	•	0.0%	•	68.8%	0.0%	0.0%	•	100.0%	•	•	
			Applied Scie								
0	<10	0	0	<10	0	0	<10	<10	<10	<10	100.0%
0.0%	•	0.0%	0.0%	•	0.0%	0.0%	•	•	•	•	
	eurship - Ce		20701)								
<10	0	0	0	<10	0	0	0	<10	<10	<10	100.0%
•	0.0%	0.0%	0.0%	•	0.0%	0.0%	0.0%	•	•	•	
Exercise So	ience Tran	sfer Pathwa	ay - Associa	te of Scienc	e (310505)						
0	0	0	0	<10	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	•	0.0%	0.0%	•	•	0.0%	0.0%	
Finance M	anagement	- Associate	of Applied	Science (52	(0801)						
<10	ō	0	o	<10	o	0	0	<10	<10	<10	100.0%
•	0.0%	0.0%	0.0%	•	0.0%	0.096	0.0%	•	•	•	
Graphic De			ence (50040	09)							
0	0	<10	0	<10	<10	0	<10	11	0	<10	0.0%
0.0%	0.0%	•	0.0%	•	•	0.0%	•	100.0%	0.0%	•	
			ociate of Sc	ience (510)	000)						
0	0	0	0	<10	<10	0	0	<10	0	<10	0.0%
0.0%	0.0%	0.0%	0.0%	•	•	0.0%	0.0%	.20	0.0%	•	3.070
			ience (4400			0.070	0.070		0.076		
<10	0	0	0	<10	<10	0	<10	14	<10	<10	80.0%
*	0.0%	0.0%	0.0%	*	•	0.0%	•	100.0%	•	•	50.070
	0.070	0.070	0.070		_	0.070		100.070		-	

Continue to on the next page.

Related Work Full- time	Related Work Part- time	Unrelated Work Seeking Related	Unrelated Work Not Seeking Related	Continue Education	Available for Work but Unemployed	Unavailable for Work	Status Unknown	Total Graduates	Total Related Work	Total Available for Related Employment	Related Employment Rate
Individual	ized Studies	- Associate	ofScience	(309999)							
<10	0	0	0	0	0	0	0	<10	<10	<10	100.0%
•	0.0%	0.0%	0.0%	0.0%	0.0%	0.0%	0.0%	•	•		
	rogramming				_	_	_				
<10	0	0	0	0	0	0	0	<10	<10	<10	100.0%
I F-6	0.0% ement - Ass	0.0%	0.0%	0.0%	0.0%	0.0%	0.0%				
10	ement - Ass	<10	0 crence	<10	<10	0	<10	36	20	23	87.0%
27.8%	27.8%	•	0.0%	*10	•	0.0%	•	100.0%	55.6%	63.9%	67.070
	s and Science	ras - Assaci		(240101)		0.0%		100.0%	33.070	65.570	
27	16	<10	<10	164	<10	0	47	272	43	53	81.1%
9.9%	5.9%	•	•	60.3%	•	0.0%	17.3%	100.0%	15.8%	19.5%	02.270
	ent - Associa	te of Appli	ed Science				211210	200.07	22.27	221210	
<10	0	0	0	<10	0	0	0	<10	<10	<10	100.0%
•	0.0%	0.0%	0.0%	•	0.0%	0.0%	0.0%	•	•	•	
Manageme	ent - Certific	ate (52020	1)								
<10	<10	0	0	30	<10	0	<10	40	<10	<10	88.9%
•	•	0.0%	0.0%	75.0%	•	0.0%	•	100.0%	•	•	
Marketing	- Associate	of Applied	Science (52	1401)							
<10	<10	0	0	<10	0	0	0	<10	<10	<10	100.0%
•	•	0.0%	0.0%	•	0.0%	0.0%	0.0%	•	•	•	
_	and Sales -										
0	<10	0	0	<10	0	0	0	<10	<10	<10	100.0%
0.0%	•	0.0%	0.0%	•	0.0%	0.0%	0.0%	•	•	•	
	tics - Associa										
0	<10	0	0	<10	0	0	0	<10	<10	<10	100.0%
0.0%		0.0%	0.0%	**********	0.0%	0.0%	0.0%	•	•	•	
	tics Transfer							-40	_		**/*
0	0.0%	0.0%	0.0%	<10	0	0	0	<10	0	0	N/A
0.0%	b Technolo			- d C-: (0.0%	0.0%	0.0%	_	0.0%	0.0%	
<10	<10	gy - Associa O	0 O	<10	0	0	<10	15	<10	<10	100.0%
*	•	0.0%	0.0%	*	0.0%	0.0%	•	100.0%	•	•	100.0%
Microsoft	Office Essen			407)	0.070	0.070		100.070			
<10	0	0	0	<10	0	0	<10	<10	<10	<10	100.0%
•	0.0%	0.0%	0.0%	•	0.0%	0.0%	•	•	•	•	200.070
Microsoft	Office Princi	ples - Certi	ficate (520	407)							
<10	0	. 0	o o	<10	0	0	<10	15	<10	<10	100.0%
•	0.0%	0.0%	0.0%	•	0.0%	0.0%	•	100.0%	•	•	
Microsoft	Office Specia	alist - Certif	ficate (5204	107)							
<10	0	0	0	<10	0	0	<10	<10	<10	<10	100.0%
•	0.0%	0.0%	0.0%	•	0.0%	0.0%	•	•	•	•	
	sociate of Fi										
0	<10	0	0	<10	0	0	<10	<10	<10	<10	100.0%
0.0%	•	0.0%	0.0%	•	0.0%	0.0%	•	•	•	•	
	IANE) - Assoc				_	_					400.000
<10	<10	0	0	24	0	0	11	48	13	13	100.0%
	• 	0.0%	0.0%	50.0%	0.0%	0.0%	22.9%	100.0%	27.1%	27.1%	
	ented Progr				0	^	-10	22	-10	-10	100.00
<10	<10	0.0%	0	21	0 0%	0 0%	<10	32	<10	<10 •	100.0%
			0.0%	65.6%	0.0%	0.0%		100.0%			
	- Associate o				_	_	_				400.50
10	<10	0	0	<10	0	0	0	16	13	13	100.0%
62.5%	•	0.0%	0.0%	•	0.0%	0.0%	0.0%	100.0%	81.3%	81.3%	
Paralegal -	-Certificate	(220302)									
	<10	0	0	<10	<10	0	0	12	<10	10	90.0%
<10	•	0.0%	0.0%	•	•	0.0%	0.0%	100.0%	•	83.3%	
<10 •		rificato (13:	1314)								
•	rainer - Cert	uncare its.					-10	<10	-110		400.00
• Personal T	rainer - Cert			<10	0	- 0	5.110		5101	<10	100.0%
•	<10	0	0	<10	0 0%	0 0%	<10	•	<10	<10	100.0%
Personal T	<10 •	0 0.0%	0.0%	•	0.0%	0.0%					100.0%
Personal T <10 • Physical Ec	<10 • ducation - As	0 0.0% ssociate of	0 0.0% Science (13	• 31314)	0.0%	0.0%	•	٠	•	•	
Personal T	<10 •	0 0.0%	0.0%	•							N/A

Continue to on the next page.

Related Work Full- time	Related Work Part- time	Unrelated Work Seeking Related	Unrelated Work Not Seeking Related	Continue Education	Available for Work but Unemployed	Unavailable for Work	Status Unknown	Total Graduates	Total Related Work	Total Available for Related Employment	Related Employment Rate
Political Sc	ience Trans	fer Pathwa	ay - Associa	te of Arts (2	40101)						
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	•	0.0%	0.0%	0.0%	•	0.0%	0.0%	
Pre-Engine	ering - Asso	ciate of Sci	ence (1401	02)							
<10	<10	0	0	<10	0	0	<10	<10	<10	<10	100.0%
•	•	0.0%	0.0%	•	0.0%	0.0%	•	•	•	•	
Project Ma	nagement	Essentials -	Certificate	(520211)							
<10	0	0	0	<10	0	0	0	<10	<10	<10	100.0%
•	0.0%	0.0%	0.0%	•	0.0%	0.0%	0.0%	•	•	•	
Psychology	Transfer Pa	athway - As	sociate of	Arts (24010	1)						
0	0	0	0	<10	0	0	0	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	•	0.0%	0.0%	0.0%	•	0.0%	0.0%	
Small Busi	ness Accour	nting - Certi	ificate (520	302)							
22	<10	<10	0	76	0	0	<10	113	28	29	96.6%
19.5%	•	•	0.0%	67.3%	0.0%	0.0%	•	100.0%	24.8%	25.7%	
Spanish La	nguage - Ce	rtificate (1	60905)								
0	0	0	<10	<10	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	•	•	0.0%	0.0%	•	•	0.0%	0.0%	
Studio Arts	- Associate	of Fine Art	s (500702)								
0	0	0	0	<10	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	•	0.0%	0.0%	•	•	0.0%	0.0%	-
Theatre Tr	ansfer Path	way - Assoc	iate of Fine	Arts (5005	01)						
0	0	0	0	0	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	0.0%	0.0%	0.0%	•	•	0.0%	0.0%	
Wellness (Coach - Cert	ificate (510	0001)								
0	0	o ·	o	0	0	0	<10	<10	0	0	N/A
0.0%	0.0%	0.0%	0.0%	0.0%	0.0%	0.0%	•	•	0.0%	0.0%	
Written Co	mmunicati	on Technol	ogies - Cert	ificate (520	407)						
<10	0	0	0	10	0	0	<10	12	<10	<10	100.0%
•	0.0%	0.0%	0.0%	83.3%	0.0%	0.0%	•	100.0%	•	•	

Source: Minnesota State Graduate Follow-up Survey

NOTES:

- "Unavailability for Employment" includes graduates who chose not to seek work, were unable to work, or were international students who returned to their homelands.
- "Status Unknown" includes graduates who could not be located or did not respond to requests for information.
- Categories of employment can include some graduates who also reported continuing education but indicated that employment was their preferred classification.
- "Continuing Education" can include some graduates who also reported employment but indicated that continuing education was their preferred classification.
- Sums of percentages might not equal total percentages due to rounding.
- Related Employment Rate is calculated as Total Related Work a percent of Total Available for Related Employment.
- There are Total Related Work is sum Related Work Full-time and Related Work Part-time (both comes from the survey), and Total Available for Related Employment is the sum of Related Work (FT or PT), Available for Work but Unemployed and Unrelated Work Seeking Related.